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(P/G)

10 DIM N(30)

20 INPUT p

30 FOR I=1 TO P

40 N(I)=INT (RND(I)*100)

50 NEXT

90 B=1

100 INPUT "A=Ascending sort,
D=Desending sort, E=End" ;A$

110 IF A$="A" OR A$="a" THEN B=2

120 IF A$="D" OR A$="d" THEN B=3

130 IF A$="E" OR A$="e¢" THEN B=4

140 ON B GOSUB 200, 220,320, 190

145 LPRINT

150 FORI =1 TO P

160 LPRINT USING “###u#" :N(D);

170 NEXT

175 LPRINT:LPRINT:LPRINT

180 INPUT “Again (y/n)?":YN$

IF YN$ = "Y" OR YN$ = "y" THEN 20
190 END
200 PRINT "“Input Error???”

210 RETURN 90

220 LPRINT:LPRINT “Ascending sort”
230 FOR I=1 TO P-1

240 FOR J=I TO P-1

250 IF N(I) < N{J+1) THEN 290
260 C=N(D)

270 N(I)=N{J+1)

280 N(J+1)=C

290 NEXT J

300 NEXT I

310 RETURN

320 LPRINT:LPRINT" Descending sort”
330 FOR 1=1 TO P-1

340 FOR J=I TO P-1

350 IF N(I)>N(J+1) THEN 390
360 C=N(I)

370 N(I)=N(J+1)

380 N(J+1)=C

390 NEXT J

400 NEXT 1

410 RETURN

1705 LPRINT:LPRINT

(A=)
Ascending sort

5 5 12 15 23 33 36

— 56~

(2x™2) 199 diels 30ME S

42 45 46 48 51 54 56
66 66 T3 T4 T4 T6

Descending sort

9 94 93 93 8 719 76
73 71 68 65 57 42 41
37 32 29 2 22 21
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GE GOSUB~Return®-g o] 2.3le] =
Q_

ofl 2 "o tt).

(P/G)

16
20
39
10
Nl
50
0

80

0

DTN N
INPUT P

FOR 1 =1 T P
READ N1
NENT
DATA
DATSA

1%,7.6.5.1.3.8.2.4.9
11.19.17.18.15.14.16,13,
12.20

25,30.27.24.21 .22.25.23,
28.29

B =1

DATA

109 THPIT "4 = Ascending sort.

11

120 1F
130 IF

146 ON B GOSUBR

19

160

N = Desendind sort, E = End”:A%
D IF 4% = "A" (OR A% =7
TPEN B = 2

AE = D" OR AS =
THEN B = 3
A% = "E” QR A% = "e”
THEN B = 4
200,220,
1 TOP
PRINT N¢T3:

O

o

320.190
@ FOR T =

179 NEXT

17

2 PRINT

180 GOTO 90
19 END

200 PRINT

"Trwout Error 117

219 RETURN 9@

1

220 REM Ascending

Sart

250 FOR T = 1 7O P-1

240 FOR J =

I TO P
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a0 TF NOYT < NOJs  THEN 298
260 C = Nil>

2790 NIT» = NOJ)

288 NCJ»
200 NEXT
S08 NEXT
319 RETURN

320 REY Desending sort

3B FORTI =1 TO P-1

243 FOR J I TOP

298 IF NIy > NCJ) THEN 399
360 C = N(I3
370 NCTy = NCJ2
280 NI = C
390 NEXT J

4@ NEXT 1

41@ RETURN

bR

4

=l |

&)

Ascending Sort (2L 4 & 2 57
1 2 3 4 5 68 7 8 49 16 11
12 13 14 15 16 17 18 19 20

21 22 23 24 25 25 27 28 249
20

Deccending Sort (& 44 A& 7 2F)
A28 20 7 25 95 94 o2

24020 2@ 14 18 17 16 18

4 13 12 11 1@ 9 8 7 6
5 o4 22 1

(2H3) 4 2079 AFe AL olo]4

= Tl
Aol B FARY W UAE(Z 4ol 4 AL
= vd)os $5aE P/GE 44AL.

(P/G)

10 DIM S(20)

206 FOR 1 =1 TO 20
30 READ 5(I3

40 NEXT 1

90 FOR I =1 TO 18
60 M =20 - 1

T FOR J=1TOM
80 IF G50Jy > SCJ+1) THEN 120
90 T = S

100 S5CJ3 = S5CIHD)
119 SCJ+1y = T

120 NEXT J
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130 NEXT I

i40 FOR I = 1 TO 2@

159 PRINT SCIs™ "

160 NEXT I

1'7@ DATA 79,76.77.778.79.80.81 .82,
83.84

180 DATA 40.60¢,66.85.87,88,89,493,
99,55

190 END

G

99 83 83 88 87 85
84 83 82 8 8 719
8 17 16 75 66 60
55 40

(BH4) 28 A4 Fae 4 gEX=31
4 o P, Q MZY #Halel 9 AsS 240
& F/Co P/G 2 dlo]8lE t}23) ot

Data
2,100, 4,500, 9,230, 14,550}

1,400,
15,670, 18,340, 19,130, 21,190, 23,720
26,130, 28,280, 29,900, 31,300, 35,720

F/CY

FOR i=1 TO15

RE
ST(i, 1), ST, 2)

INPUT X

jw)

YES

4
g

— 57—



{P/C)
10 REM Binary search
20 DIM ST (30, 2)
30 FOR I =1 TO 15
40 READ ST(I, 1), ST(I, 2)
50 NEXT
60 PRINT
70 INPUT " Item No. ;X
80 IF X = (0 THEN END
90 P =1
100 @ = 15
110 IF Q < P THEN 180
120 M =INT((P+Q)/2)
130 IF X = ST(M,1) THEN 160
140 TF X < STM, 1)
THEN Q= M-1:GOT0 110

150 P =M+ 1 :GOTO 110

160 PRINT X;"No. of stock = ";ST(M,2)

170 GOTO 60

180 PRINT X ; "=====> Not found"

190 GOTO 60

200 DATA 1, 400, 2, 100, 4, 500, 9, 230, 14,
550

210 DATA 15,670, 18, 340, 19, 130 21, 190,
23,720

- 58—

220 DATA 26,130, 28, 280, 29, 900, 31, 300,
35,720

Item No.
31 No.

? 31
of stock = 300

Item No. 2?1
1 No. of stock = 400

Item No ? 40

Item No. ? 24
24 =====> ¥ot found

Item No.
15 No.

715
of stock = 670

Item No, ?

P, Q, Mgke] #sl

PI1, 8, 9,10 11, 12, 14
Q:30, 14, 14. 14, 14, 14, 14,
M:1s, 7, 11, 12, 13, 13, 14

(BH5) 1¢ +
5+ 6-+-+108 A4
—~24+3—4+5—+-
2d M~ (S+P)/S & Al4tsted £48tE P/G
E 43542 (GOSUB~Retern®% o] .48 3)

—10&, 28T 3¢ ¥

(P/G)

10 INPOT T
205=0:P=0

30 ON T GOSUB 1000, 2000, 3000
40 GOTO 10

1000 FOR I=1 TO 10

1010 S= S+1I

1020 NEXT I

1030 LPRINT "S = ;5§

1040 RETURN

2000 SW = 1:FOR I =1 TO 10
2030 IF SW=1 THEN P = P + [
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:SK¥=0:GOTO 2060
2040 P = P- 1
2050 SW = 1
2060 NEXT
2070 LPRINT "P = ";P
2080 RETURN
3000 GOSUB 1000
3010 GOSUB 2000
3020 M = (S + P)/8
3030 LPRINT "M = ";M

(b

5= 55
P=-5

S = 55

P =5

M= 9090909

(2Hl6) NT 458 967k 44 H7MA714
A Nzl NA|F2Z2) 5 2424 5z2ke|2 g% 87

A gdshe P/GE AL

(P/G)

10 FOR N=4 T0 96 STEP 4
20M =N 12

30 IF I=4 THEN LPRINT:I=0
40 LPRINT USING "fifitfd" ;N M;

50 I=I+1
60 NEXT

(=)

4 16 8 64 12 144 16 256
20 400 24 576 28 784 32 1024
36 1296 40 1600 44 1936 48 2304
52 2704 56 3136 60 3600 64 4096
68 4624 72 5184 76 5776 80 6400
84 7056 88 7744 92 8464 96 9216

=9 A5HE 240,

i

(A7) o2 P/G

(P/G)
10 DIM X(10)
2¢ FOR X = 1 TO T-READ X(X):NEXT X
20 DATA —845.88,-88,-99.223,87.532
4 GOSUB 60
o0 END

60 FOR J =1 T0X -1
70 MIN = 9.999939E+37
80 FOR K = J TO X

99 IF X(K> » MIN THEN 110

106 MIN = X(K3 < Z =K

118 NEXT K:T = X(J) = X(J2
= X(Z) « X(Zy =T

120 NEXT J:PRINT

130 FOR L = 1 TO X:PRINT X(L)
:NEXT L

140 RETURN

(A=)
—845 -499 -88 0

(AR 25

87 88 223 832

(P/G)

10 DIM AC10,11
20 INPUT
30 N = M
40 FOR I
o0 FOR J
60 READ D
T0 ACL.d)
80 NEXT J
90 NEXT 1
180 FOR K
110 P = AC
120 FOR J TO N

130 ACK.J>» = ACK,J)P

14@ NEXT J

190 FOR 1 =1 TO M

168 IF (I-K) = @ THEN 210

170 AI=ACI.K>

180 FOR J = K TO N

190 ACT.J) = ACT.Jy — Al % ACK. )

U0+ =
e
23
=

il
fo)

TO M

=

1
KD
K

200 NEXT J

210 NEXT 1
220 NEXT K

230 FOR I = 1 TO M

240 PRINT " XC "
ACLND

200 NEXT 1

260 END

270 DATA 2.1.-8.1.4.1,-2.4.3.2.-1.6

(A=)
X 1 = 1



X( 3 )= 1
(2H8) 1414 10072 A4Foll 4 £ (%

m)% ?—5‘]-_1_ ﬁ)_._a"r-_ 1 63—_‘,1}_ :ﬂi—% :[L—g_‘& P/G
2 A5k (“:k i—r'ﬂ- 13 2 =44l

-5
T=

P/G)
100 DIM PNC1@@
119 FORT =1 TO 190
120 PNCTy = 1
130 NEXT 1
1468 FOR 1 = 2 TG 5@
o0 IF PN{L)Y = 0 1HEN 219
166 !OR J=2T0
L7 M =1 % I
184 IF H L 109 THEN 218
190 PNiM) = @
200 NEXT J
210 NEXT 1
PSS =0 - (=
230 FOR I = 2 TU 100
240 1F PN(I¥ = @ THEN 280
258 PRINT PNCT 3 7 7
260 C = C +1
25 =5 + PNCI

280 NEXT 1

200 AV = S ~ C

390 PRINT

31@ PRINT "TOTAL = * : S,
320 PRINT "AVERAGE = ~ : AV
330 END

(A=)
2 3 ] 1 11 3 17
1a 23 29 31 31 41 43
47T 53 98 61 67 71 73

M 83 89 97 TOTAL = 1060
AVERAGE = 42 4

(BA9) 24FF x?+4x+ 1ol Foix &
W o] ¥ FzH(1, 5)4to]e] HAL 4
F (Trapezoid’ s Rule) 3} Sa7850 2 T3k Fof]
Al (Simpson’s Rule) & o] &3}ed wld g 2y

(P/G)
O REM TRAPEZOIDAL
SIMPSON RULE
10 DEF FN F(X) = X™2 + 4 ¥ X + 1
20 READ A.B.E

MIDPOINT

30 PRINT "TRAPEZOI™,"MID”,”SIMPSON’
40 H=B - A

90 T = ( FN F(A) + FN F(B) ) * H
B0 M = 0

100 T = (T + M ~ 2

116 ¥ = 0

120 FOR X = A+ H ~ 2 TO B STEP H
130 M = M + FN F(X2

140 NEXT X

100 M = M x X

160 S = (T + 2 % M) .~ 3
1'fd PRINT INT(T*10000) -

10000, INT

(M¥10000) - 10000, INT(S¥10000
sloe00

180 H=H -~ 2
190 1IF  ABS(T-M)-ARBS(S) > E

THEN 1lo@ :

200 DATA 1.5.1.E-6

210 END
(A=})

TRAPEZOI MID SIMPSON
104 194 137.3333
129 276 227
202.5 a2l1.9 408 .9
3a7 979.125 T11.75
668.0625  1912.906 1497.958
1290.484  3779.789 2850 . 021
25835.137 T913.229 09833. 865
o024..183  14979.95 11661 .36
10002.06  289913.26 23276.19

BHEPE Of|lHX| A

Fletgxiel LPG x|
2oLSAlct

OLPG z+%s] 4L

xolds

—d&Egel £3 gieol &Pk
—d71eqol A3 slHe 24 HYA
ooz 7ate] 4ule] ZolAdl
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19957.66  59780.05  46505.92 150 T =0
39868.86  119513.4  92965.18 160 FOR T =1 TO N
79691 .1 228980 1 185885 .8 170 T =T + X(D
159335.6  471913.9 371721 .1 189 NEXT I
31862477 9557795 743394 6 190 AV =T ~ N
200 PRINT "AVERAGE = " : AV
- . v o 210 SD = ¢
(2#10) #77 (Combination) & T35} P/G 290 EOR I =110 10
€ 2434 2. 233 SD = SD + (AY-X(1Y) ™ 2
n 1 240 NEXT 1
(r,‘l. ncr:n! in—-r) f > 200 VR = SD ~ N
260 PRINT VARIANCE =" ; ¥R
(P/G) 270 SS = SOR(VRY
10 REN CALCULATION OF COMBINATION 280 PRINT "DEVIATION = ° 5 55
20 INPUT N.R PRINT ~ RESIDULE
3K = N 290 PRINT
40 GOSUB 200 300 PRINT “VALUE X7, "VALUE ¥~
50 F1 = F SIDFOR T =1 TON
60 K = R 320 Y(I) = X(13 — AV
70 GOSUB 300 330 PRINT X(I),Y(L}
8B F? = F 340 NEXT 1
99 K =N - R 390 DATA 10
100 GOSUB 200 360 DﬁTA 27. 1.J4 1 Gb 1.51.1.29.1°
120 PRINT "VALUE OF COMBINATION ":C 380 END
130 END
300 F = 1 (==h)
SIOFORI =1 TO K AVERAGE = 34.349
AW F =F % 1 VARIANCE = 425.1926
330 NEXT I DEVIATION = 20.61802
540 RETURN VALUE ¥ VALUE Y
27.1 —7.248999
(Az}) 34.1 ~. 2490006
65.1 30.751
? 10, 4 51.1 16.751
VALUE OF COMBINATION 210 29 1 -5 248999
1.42 ~32.929
(21T NS 2HAF 27.1, 341, 65.1, ,{;{3'1? ‘3%?}1’9
51.1, 29.1, 1.42, 1.37, 37.1, 35.1, 62.0ek% 25 1 1500905
o) BE, 24, EEAH, AT Fae 62 27.651
=2 =z E
P/G2 2F4A 514l 2. ooz ol Y AaE
(P/G) Hzle] )T 4 FHold T2
109 DIM X(1003,Y{100 ) 3 2o} Adeld shEou x|
11@ READ N oWy Lol el Al
120 FR 1 = 1 T0 N jx“*ﬂq‘lﬂﬂfﬂiﬂ“‘xﬁ
130 READ X(I) oot el ZROML APl =AY
140 NEXT 1 .
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